R eo@BFFF9535° 51008 £R
FoARFREFFEY B FREFITER

WP AXEE § ] Y WP FRY R R KT BRS REE
P A -



|

R AR EpRs - FRERY

jﬁﬁﬁ%?ﬁ‘

R F> 8V PR & L3 (Y w84

CHER(FR2A O E10% 05720~ )
—*%W@f@%éﬁbﬁvﬁiﬁ&% RS EER GEENLA S OF  sF 12
)~ ( ) e
S aPR e (i ez ) Ao F T o ER AL
( )~ ( )
SR FER A E R oA TR IR SR g AN RR R AL
( )~ ( ) o
B ARESEESAM L FIRE 0 LR A s mFE Y
( )~ ( )
I PR FERM T F o adt o e R R F R REE TS

R c#FF EMh3ea' g -FFER

R Z~FV 4R 5L 22 A2 T %%

“HEH(EFR2A S E 108 204)

~N

5§« Flw > ?% <4<<fv>>( (ulgr) ~d g - FH (33 -2 R) HEEY
- ) - chipem (88]) 3% (e E}_%>> (F (e B2 HpHEL)

S~ BEAZ I AT MK

SR cHES (F2) () ~F - 2F (PR (2R R)
w\al:i-?,%éu*—‘ Fkdg () ) (AEaF -PER(LE 282 R) ) ~

14

iF - rj<<§%— ﬁv,:,-%—?“%>> (Kd g - Fle

S TRERE RIS

s - e oW (R Te )




= ;:/?F"F%"‘ gxfﬂ.%%_&d g - ’ﬁ?-&)i%: =X FCEF BB A~
R &EEV 2T L L # (GYY fiAR)
- “HEAK (FLRAL o BPT28)

L xyatetat » (XHY-D(HY—2)<O0# % 7 o@=) %3 5T -

(@ Teha 4 5 (1)
(b)z& f(x,y)=4x+3y » ® f(x,y) alt ek *xE i M> & &5 m- (M, m)= (2) o
1

2. k00 EML s dARY=g gt s‘@(k,lfk Yerr g 2 AK)E F L& X 02 Y il & ehz &)

5 4+ o Jimk- AK)= (3) : A

3. % sinb=a-> * a>0- % cos40=sin0 > P a FiE A (4) °
4. (00874 v1 5 ot (5) °
5 4+ B > & > > 44 ABCD—EFGH *# > o E H

P i BFee g p) 008(LAPG)= (6) ° F G

6. ¢ B(345)FI e X +Y+22 =14 *r serr B, %~ [0 I el jTx (7) o

7. 4t B> wi$2, ABCD 5 MIP 42 i8> % AB=3 . BC=3-

D=5 DA=s: ) BD= (8) o °

8. # & AMengd 425t 5 X=08°t, y=8In*t, 0<t<27 - py
(@ 5 E 3 RIFm 5= (9) (b)s+ & 55 ess £ 5= (10) °

9. ¥+ 3 1000 =84 S B Y A F TIO0 A 654 AR ELREA A2 el HEAGERY
BA o R E G (11) A BB A B0 A o

10. ()3 y=2x+k &7 y=x’—x+1 23t 4p B = @ B Kk s 5 (12) o

o

b)yFx > 75 - BAp 2 Bahx AR+ *’?g R K ehie & (13) °

1L % f0Lx it e % iMf()=3> mlimf(x)=___ (a)

. SinX _ . X2 —8X+15 ]

13. 2 /& 1 2 ]?].1’ 8B % 8L AL A)A; ... Ag 4ot B 0 B
(QIEBA BB £ 5 (17) (D) £ B2k m Fe s chm 4 5 _(18) °

N
)

yd



RBP4 E357" 8 -FTFERY - ARFEEF P
R EEEVHREEEL Y RUSTER (T24)

1 6 2 (8,-8) 3) %
4 1, #5 (5) 2 (6) —%
(7) % (8) 14 ©) S—ér
10) 6 a1y 160 (158~162) a2y —1<k<3
(13) —%<k<3 14) -3 (15) 1
16 —KC an m+NA—2J2 (18) 5+22-2




